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QUESTION 1

You want to ensure that the Physical Mapping Design cannot be modified even if the Logical Design of the Mapping is
changed. 

What sequence of steps must you follow to achieve this? (Choose the best answer) 

A. Go to the Physical tab, select theFixedDesign check boxof the Physical Mapping Design. 

B. Go to the Physical tab, select the Is Frozen check box of the Physical Mapping Design. 

C. Go to the Physical tab, select the Read-only check box of the Physical Mapping Design. 

D. Go to the Physical tab, deselect theModify check boxof the Physical Mapping Design. 

Correct Answer: C 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/mappings.htm#ODIDG1560) 

 

QUESTION 2

A Mapping that uses CDC does not load any source data and you want to check the SNP_CDC_SET table to find out
the current window ID. 

In which database schema must you look to find this table? (Choose the best answer.) 

A. the schema hosting the Work repository 

B. the schema hosting theWork schema of the default schema defined for your source data server 

C. the schema hosting the Staging Area 

D. SYS 

Correct Answer: B 

(http://www.ateam-oracle.com/understanding-the-odi-jkms-and-how-they-work-with- oracle-goldengate/ ) 

 

QUESTION 3

Which statement is true about defining more than one physical schema associated to the same data server? (Choose
the best answer.) 

A. ODI topology does not allow defining more than one physical schema for a data server; the associated logical
schema would be ambiguous. 

B. It is possible to define more than one physical schema associated to the same data server, but it is mandatory to
specify a different user to log in. 

C. It is possible to define more than one physical schema associated to the same data server, but you must flag the
default physical schema. 
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D. It is possible but it is better to avoid doing so because it is more difficult to define a logical schema this way. 

Correct Answer: C 

(http://odiexperts.com/context-logical-and-physical-schema-how-does-it-work/) 

 

QUESTION 4

You are designing a load plan in which you must run Mappings A and B one after the other while running Mapping C at
the same time. 

Which option represents the steps to accomplish this? (Choose the best answer.) 

A. Add a parallel step, add three serial steps underneath it, then addAto the first parallel step, B to the second one, and
C to the last one. 

B. Create a scenario from the variable and add the scenario to the load plan to create a case step. 

C. Add a parallel step, add two parallel steps underneath it, then add A and B tooneparallel step, and C to the other. 

D. Add a parallel step, add two serial steps underneath it, then add A and B to one serial step, and C to the other. 

Correct Answer: C 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/loadplans.htm#ODIDG1356) 

 

QUESTION 5

How do you reuse a configuration of OdiSendMail across multiple packages? (Choose the best answer.) 

A. Add a sub-model to a package, set the Sub-model step to Journalizing Sub-model, and select the Extend Window
and Lock Subscriber check boxes. 

B. Add anOdiSendMailstep to a knowledge module. 

C. Duplicate theOdiSendMail stepinto multiple packages. 

D. Create a procedure with a step that usesOdiSendMailand add this procedure into multiple packages. 

Correct Answer: D 

(https://blogs.perficient.com/oracle/2014/08/26/how-to-create-an-oracle-data- integrator-odi-package/) 

1Z0-448 VCE Dumps 1Z0-448 Practice Test 1Z0-448 Study Guide

Powered by TCPDF (www.tcpdf.org)

1Z0-448 VCE Dumps | 1Z0-448 Practice Test | 1Z0-448 Study Guide                                3 / 3

https://www.geekcert.com/1z0-448.html
https://www.geekcert.com/1z0-448.html
https://www.geekcert.com/1z0-448.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-448.html
https://www.geekcert.com/1z0-448.html
https://www.geekcert.com/1z0-448.html

